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Q.1. Multiple choice questions (Answer all) oo
I. Who is an adult as per Factories Act, 1948 ? :
- a. Who has completed 18 years of age - b. who is less than 18 years
¢, who is more than 14 years d. who is more than 15 years
ILHow much amount is payable to the dependents for funeral expenses?
(2) Rs.5000/- (b) Rs.12000/- (c) Rs.10,000/- (d) Rs.15000/-

II.What is the present wage limit to be eligible to be covered under the Employees’ Provident
Funds and Miscellaneous Provisions Act, 19527
{A) Rs. 6,000 (B) Rs. 6,500 (C)Rs. 15,000 . (D)Rs. 12,500

- IVUnder the Maternity Benefit Act, a woman employee would get a medical bonus of:
(A) Rs. 3000 (B) Rs. 3500 (C) Rs. 4000 (D) Rs. 4500

V. ‘First come last go and last come first go’ is the principle of
(A) Lay-off (B) Closure (C) Retrenchment (D) Dismissal

VIThe objections, which the workmen may desire to make to the draft standing orders to be
submitted to the Certifying Officer within --------- days from the receipt of draft standing
order from the Certifying Officer.

(2) 12 days(b) 30 days(c) 9 days(d) 15 days

VIL The bonus act is the outcome of the recommendation made by the .
a.State government b. Central government
c. Labour Court d. Tripartite commission

VIII.What is the qualifying service to claim gratuity? _
" (a) 15 years - (b) 10 years (c) 5 years (d) No such provision

IX.A Trade Union may claim recognition in the industry , if it has membership of
(A) 10% of the workers in that industry.
(B) 15% of the workers in that industry
(C) 25% of the workers in that industry .
(D) 30% of the workers in that industry,
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X. As per Factories Act, "child" means a person who has not completed his «-vu--- year of age' 5
(a) 18 th (b) 21 st (c) 15 th (d) 14 th

. Q.2. What is Trade Union ? Explain the privileges of a registered Trade Union under the Trade

Unions Act 1926.; :+; @J—ﬂ)
OR

Q.2.Define the term an ‘Employee’ and state the provisions relating to payment of gratulty

under the Payment of Gratulty Act, 1972.

Q.3.Examine nature of “Industrial Conflicts and Dispﬁtes”. State the difference between
retrenchment and lay off according to Industrial Dispute Act. [14]

_ OR
Q.3.What is a minimum wage? Explain the procedure for fixing and revising the minimum rates
of wages under the Minimum Wages Act, 1948.

Q.4. Define the term ‘Employee’ and state the various benefits available to an insured

person under the Employees State Insurance Act, 1948, ' - [14]
OR

- Q.4Define ‘Factory’ under the Factories Act, 1948 and examine the provisions relating to

‘Health and Welfare’ under the Act.

Q.5. Answer any three in brief. : [18]
a. Explam right to payment of maternity benefit under the Maternity Benefit Act, 1961.

b. What is bonus according to Payment of Bonus Act?

c. Explain the mode of Registration of Trade Unions under the Trade Unions Act, 1926.

d. Explain provisions for strikes.

e. Explain the difference between ESI Act and Maternity Benefit Act.
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